



INSTRUCTIONAL EQUIPMENT REQUEST

Due in Dean/Unit Head's Office on September 19, 2011 (FALL) and March 1, 2011 (SPRING)

Name of Requestor: Debbie Fields

Division/Unit:

The Definition of Instructional Equipment can be found in the California Community College's Budget and Accounting Manual. A copy of these definitions is on the PBC webpage: http://grapevine/pbc/InstructionalEquipment.php

Division/Unit :	BCATSS		
	Tech Tools		
	st (equipment or materials being		
equestea must be	similar, related or part of a system.	Item (s) cost	\$ 3430
Request amount	(unit cost and total cost including tax and shipping.	Tax (.00 § 75)	\$ 300.1
	costs including installation, modification to existing facilities	Shipping	\$
to accomodate new	• • •	Installation	\$
This should come fr	rom the vendor quote	Facilities Modification	\$
Attach copy of qu	ote(s), estimate(s) and requisition(s):	Other	\$
(Must attach quote	& requisition; absence of either will delay processing)	Total Cost	\$ 3703.13
various computing to the section of	h Tools. As part of our Program Review, the disc ing devices to integrate and augment various class. Tech Tools (examples include: speech recognite ablet PCs with handwriting recognition, Flip Video ain technology alternatives to the computer deskt in of 5 Apple iPads, we can have the students creates the students creates to integrate technology into their daily lives. iP illize many of the educational 'apps' for learning.	ses (CIS 94, CIS 9 ion technology, WA cameras, LiveScr top.	995, CIS ACOM ibe Pens) ous 'apps',
CIS/CNT/CS has	gram Review? Yes ■ No □ s integrated into their Program Review the import es that we utilize to be up-to-date and relevant.	ance of keeping th	e
SP-0020	Las Positas College Instructional Equipment Request Form	Updated 9/7/2011	Page 1 of 10

ls it a replacement? Yes □	Upgrade? Yes	New technology? Yes■	
Please explain?			
We have many Tech Tools tha update our Tech Tools.	at were purchased 2+ ye	ears ago (now old technology), looking to	

Following is the evaluation criteria; please see corresponding Instructional Equipment Rubric.

Instructional and Service Impact

How will this item have a positive impact on instruction and/or teaching and learning in the classroom? Is this for use by the Instructor or students, or both?

The instructors have noticed that when introduced to new and different technology, the student becomes comfortable enough to purchase that technology and integrate into their
lives. For example, when we introduce, demonstrate, and allow students to use Live Scribe Pens, they will often purchase those devices for class work.
Totalo, trioy will often parentaes triose for states treatment
,

Impact on Enrollment Will the equipment impact enrollment, attract or increase the number of students participating in a course or program? Since the iPads will be integrated into existing classes, it is difficult to determine if those devices alone will impact enrollment. It will definitely increase and attract students to the newly developed 'mobile computing programming' class.

Access

How does this item promote the principles of universal design, by providing opportunities for	or under-
represented populations & accommodate students with diverse learning styles?	

represented populations a accommodate stadente mai arvoice isamming styles.
iPads will appeal to those students with diverse learning styles by showing them various ways to integrate different technology into their learning. A growing number of schools across the nation are embracing the iPad as the latest tool to teach Kafka in multimedia, history through "Jeopardy"-like games and math with step-by-step animation of complex problems.

Outcomes

How will this equipment enable or enhance SLOs? What are the consequences related to learning outcomes if request is not funded?

Not only will the iPad play a role in preparing students for employment, we expect it to
enhance instruction and improve student-learning outcomes. Educational applications and access to the Internet including podcasts, online books and references, and other educational
materials make the iPad the perfect study companion. Student Learning Outcomes, which
include the ability to locate and critically evaluate information.
·

Total Cost of Ownership (This is an attempt to identify what the ongoing costs of purchasing this equipment will be to the institution)

- a) What is the lifespan of the equipment? 5 years? 10 years? 20 years?
- b) Is there sufficient current/planned space available for the storage and use of this equipment? If so, where will it be housed? If not, is there a proposed location and are there any costs associated with installation or modifications to the space?
- c) Are there operating costs and how will they be covered by the department?
- d) What will be required to maintain the equipment, such as regular servicing or upkeep? Who will perform maintenance, and what will the estimated costs be?

	Who will perform maintenance, and what will the estimated costs be? i. technical life span of iPad will be 3-5 years i. yes, sufficient storage space available						
a.	technical life span of iPad will be 3-5 years						
þ.	yes, sufficient storage space available						
C.	no operating costs						
d.	no servicing anticipated, software will be under the 'lab installs' policy, downloading of						
he	ew software upgrades as needed						
	. •						
1							
l							
İ							
1							

Is this a "flagship" item that will bring recognition/notoriety to the College or raise the stature of the
program? Will it attract students and/or enhance the image of the College in the community because of
its rare, one-of-a-kind status?
not a 'flagship item'. Many schools (high school, elementary schools) are utilizing iPads in the
classroom, LPC needs to get up-to-date with the technology and its capabilities.

Visibility/Profile within Community

Commitment to Sustainability

How does this equipment exceed basic sustainability goals and encourage renewable resources at the College? Is the design/operation of this item in keeping with the College's commitment to sustainable practices?

-	hase textbooks and other	er, using the iPad a er paper-based mat	is a eReader will allo erials.	w students to
lo health, safety	, security concerns			
	*			
tures (<u>required</u>)				
	vanismont/ooffuges LDC IT Day-	mont Povious is as a size of 3		
	equipment/software, LPC IT Departi	ment Review is <u>required</u> .)	IT Department Signa	lure
	1 Dean/	ment Review is <u>required</u> .)	IT Department Signa	iure . M. V
		ment Review is <u>required.</u>)	IT Department Signa	ture Nacl Mal
sting computer-related e	1 Dean/	ment Review is <u>required.)</u> MULL MOUSE 9/2	IT Department Signa Vice President 23/11	Ture Mary Mal

#R

LAS POSITAS COLLEGE Equipment, Apparatus and Service Requisition

ist		ı		
Apple Store			FOR OF	FOR OFFICE USE ONLY
NAME OF STAFF MEMBER DATE WRITTEN DATE REQUIRED DIVISION/ DEPARTMENT For inventory purposes include room # where Debbie Fields 19-Sep-11 Apple	room # where 13	9	RETURN COPY of REQUISITION TO C. McCauley / D. Fields	equisition to: D.Fields
DESCRIPTION (PRODUCT, TYPE, SIZE, COLOR, STOCK NUMBER)	UNIT	aty L	UNIT PRICE	TOTALS
Apple Dock Connector to USB Cable	EA	5	\$ 19.00	\$ 95.00
Apple iPad 2 Dock	EA	5	\$ 29.00	\$ 145.00
iPad Smart Cover (Blue)	EA	5	\$ 39.00	\$ 195.00
Peronalized iPad 2 32GB w/WiFi (White)	EA	5	\$ 599.00	\$ 2,995.00
				+
				\$
				+
	-			\$
				•
Vendor Information/ Remit To: Deliver To, include room # (optional):				. ↔
Apple Store Debbie Fields				. ↔
(On-line) 803 - Computer Center				· \$
				\$
				\$
Comments:	Subtotal			\$ 3,430.00
Instructional Equipment	Tax		\$ 0.0875	\$ 300.13
BT#	Shipping (if available):	(if ava	ilable):	
Original invoices and receipts must be attached for payment. Include current taxes unless incorporated in price.			TOTAL COST	\$ 3,730.13
ACCOUNT # FUND ORG ACCT PROGRAM	Business Office	Office	a)	
APPROVALS Supervisor/ Coordinator/ Director Director	124 1940) President	Last 1	is Malony	

Apple Store

Questions? Need Advice? Call 1-800-MY-APPLE

By clicking Continue, you acknowledge that the terms of Apple's Sales and Refund Policy will govern your purchase.

Shipping

Shipping Contact					
First Name L	ast Name	Apple Shipping Policy	Learn more		
Area Code Primary Ph	one	 Signature is required f 	or delivery		
Email Address (optional)		 We do not ship to P.O. 	. boxes		
Shipping Address		 Delivery estimates bel time 	ow include item pro	eparati	gniqqide bna no
Company Name (optional)		 How to ship to an APC 	/FPO address		
Street Address					
Apt, Suite, Bldg. (optional)					
Zip Code Enter Zip t United States This is a business addres	or City and State				
					Continue
Shipping Method					Edil Shipping Me
standard Shipping — Free					
Payment					
Account					
tems in Your Cart					Edit Cart
इ.१.५०५ इ.१.५०५	Apple Dock Connector to USI	3 Cable	\$19.00	5	\$95.00
	In Slock				
	Delivers: Within 5 days after shipping by Part number: MA591G/B	Standard Shipping			
	Fair Footops: Without Cold				
)	Apple iPad 2 Dock		\$29.00	5	\$145.00
<i></i>	report day 2 500K		020.00	J	
	In Stock				
1	Delivers: Within 5 days after shipping by Part number: MC940ZM/A	y Standard Shipping			
	iPad Smart Cover - Polyureth	ane - Blue	\$39.00	5	\$195.00
11	In Stock Delivers: Within 5 days after shipping by	y Standard Shipping			
	Part number: MC942LL/A	., .,			
September 1998 - September 1998 - Sept	Personalized (Pad 2 32GB wit	th Wi-Fi - White	\$599.00	5	\$2,995.00
	1 Otoottables it as a small it.		4000.00	Ü	V,000.00
	In Slock				
的恋。邓 ·苏·	Delivers: Within 5 days after shipping b Part number: PC980LUA	y Standard Shipping			
	Engraving				
	Las Positas College				
	803 Computer Lab				

Enter Promo Code

Carl subtotal Free Shipping \$3,430.00 \$0.00

Order Total

\$3,430.00